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0° = 9 = 90° 0 = 45°.
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(1) sin20 = /3siné
2sinfcosd = +/3sind

sinf(2cosf —v3) = 0

-.sin@=0 cosezg.
0° = 0 < 360° 0 = 0°,180°, 30°, 330°.
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0° = 6 < 360°
sing = —1 6 = 270°.
sing = - 6 = 30°, 150°.
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S!n2:c+COSy =1 (0° = 2.y < 360°)
siny+cos2z =1
sin? 2z + 2sinz cosy + cos?y = 1
sin?y + 2sinycos 2z + cos? 2z = 1
2(sin 2z cosy + siny cos 2z) = 0. sin(z +y) =0.
2z +y = 360° x n 180° + 360° x n (n )
2z +y = 360°
sin(—y) + cosy = 1, siny + cos(—y) = 1.
siny =0, cosy =1 0° = y < 360° y =0°.
sin2z =0, cos2x = 1. 0° = 2x < 720° x = 0°,
180°.
2 +y = 180° + 360°
sin(—y + 180°) + cosy = 1, siny + cos(—y + 180°) = 1.
siny +cosy =1, siny —cosy = 1.
siny =1, cosy = 0. 0° = y < 360° y = 90°.
sin2z =1, cos2x = 0. 0° = 2z < 720° x = 45°,

225°,
(z,y) = (0°,0°), (180°,0°), (45°,90°), (225°,90°).
(1 —sin22)?+ (1 —cos2z)?> =1 sindx =0




